ol 6 £ 3 AXKRIRE
EEENEE8 9%

= Al

BHAF AR

#

=

SHFEX. REFRREICHSITIERRIEORBELZITVWE UK,




BREF=FA)R GrEITEX)
88 = EET#FET P

ERE=F0/RE. BEHRIFEUNSHENE=FHNZET. AlIEBa/lliCEDIEE
TRETEFHREIS T Y .

T IX(E, BEOBERNRUFEDEZECKIDEEIIBITICRENMEL TS
ENS, FITEVPERMDLZEHZHRT D/, ERL=400mDXMZEmL TLE
ER

BROBEMEEFHR BEREE

ARBECKD, HEDIMEESEDE  FERL=400m IBEW=6.0(12.0)m
fBziT\. STECEMORZETHEL | - HI9EE SEESF (Fith - wE)
RBEHRUET . - H25%FE HEIBRIBXISEEF

- H27FE IS 5CRk

= 1B mAREFH]
W] & (}\ =
{ﬁﬁﬁ?/d/gnv wen - | D5 EEOEERNE
A N 4 A 8 \;tgz[m’ma Py

FANETN\G o e\
W . W B wn*@
‘ ’ J? ] }u/”‘z,/%,

:\{/ﬁw’ix’ta

o EERS

[ #REEHRIRE )

12000

2500 1500 6000 500 2500
3000 N 3000
Ry el
_2.00% . 2.00% ‘ 2.009% 2.00%
[ BRiEhtE

THIRR )

e A

P




